
1

1

2

2

3

3

4

4

D D

C C

B B

A A

Title

Number RevisionSize

A

Date: 11/2/2009 Sheet    of
File: C:\Users\..\EtherCAT_4BNC1.SchDoc Drawn By:

EtherCAT Adapter Quad BNC

Daniel Sigg

D0902577
1 1

A

2 1

B1

Bracket

H7 #4 screw, 3/8"

H9 #4 lock washer

H10 #4 lock washer

H11 #4 nut

H12 #4 nut

H8 #4 screw, 3/8"

2 1

B2

Bracket

H1 #4 screw, 3/8"

H3 #4 lock washer

H4 #4 lock washer

H5 #4 nut

H6 #4 nut

H2 #4 screw, 3/8"

SH1

SH1

 

P1

P8

P7

P6

P5

P4

P3

P2

J1

BNC

J2

BNC

J3

BNC

J4

BNC


